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7. How is be map D-[ Q27 repesoed in bhe basis
R A
D (1) - 18 201 o180+ o] -[3]
D-(LAD)- 19 {][ﬂ IREINEE
D = 1 7]
D3 51, w-[o4]

g Whidw mokrix (efresends o cownker Clodkivise cobokion arowd the z-anis?
Nobe: 53 = {(’,x,%’ €28

€ 0 '
A o
nt O € |
co5€ -Snld O 7
C.|Sn€ cos€¢ O
O o 11

s€ -Sml O €y (oS € _Sin€
st one 0](5) e 5[ )
0

O O €2

3. Consider H, (Q)- {A(—,(E‘Q‘a A A ok is o SwtoMe

Choice of Hield 7 (R, Q)

Veckor Space Check(ist .
0. Addition and scalor mulbiplication ore commubative, aSSociative . .3/

1.V is dosed under addition and scalor mulbiplicakion . L
Q. There exists a zero veckor, aeutral element of addibion in V lﬂ/
3. 5coling by SefF yiedds the same vecdkor @/

e h e W (@) TR-H cher, (€) B

A= A At e
A-( 2= (2 2)= A CA (; ) ()

A (ray ra _ t
rA-( l r-a%)—_l’A v :I:CA

T~0-Q
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